1 pound dried beans reconstituted overnight in water = 4, 15-ounce cans beans.

4 ounces = .25 on the butcher’s scale

3 ounces = .19 on the butcher’s scale

2 ounces = .125 on the butcher’s scale

1½ ounces = .094 on the butcher’s scale

1 ounce = .063 on the butcher’s scale

1 cup of any kind cooked rice results from boiling ½ cup raw rice in 1 cup water

1 tablespoon = ½ an ounce in the U.S.

⅛ cup = 4 tablespoons. When a recipe calls for ¼ cup for four servings, use four tablespoons to cut it in half.

½ tablespoon = 1½ teaspoons. There are three teaspoons to a tablespoon. 

¾ cup = 6 ounces or 12 tablespoons (1 tablespoon equals half an ounce). So half of ¾ of a cup is 6 tablespoons.

⅔ cup = 5⅓ ounces, or you can safely call it 11 tablespoons, plus a smidge more. Half of ⅓ cup, therefore, is a tad bit more than 5 tablespoons.

⅓ cup = 2⅔ ounces, or 5½ tablespoons, plus a smidge more. 

So half of ⅓ cup is equal to 2 tablespoons plus 2¼ teaspoons.

